=
<

5) =
© =)
= —
5 3
> k)
g 5
S
1072

-1 0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_CKF_50MtQCD

—e— DQM_mkFit_SoftQCD-updated
—— DQM_mkFit_SoftQCD-DNNsgcd100
—— DOM_mkFit_SoftQCD-DNNalliters

-~ -
= 1]
2 o
- -
= -
2 -
3 o
) o
o) ©

.9101*: i !....!.... .910\_1%
g 105;—- §
1;— k P et 4t
0.05F------3= - | Bt L4 -EH-1 - 1|
=2 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

-
o
e
o
o
o
5
107t
107°E:
2 : : ; : :
T 14 ! o o protte
24 : i : i :
12 ! o o o e
1 U G 1L P

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


